
UPR-PRO200 10kg
(22lbs)

CEILING&WALL
PROJECTOR MOUNT



1 (x1)

M6.3x50 (x4)
A

M8x65 (x1)
I

M8 (x2)
J

M8 (x1)
K

L (x1) M6x40 (x3)
M

M6x40 (x1)
N

M8 (x3)
O

M6X14 (x1)
P

M10 (x4)
B

M6x16 (x4)
D

M6 (x8)
E

M6 (x7)
F

M5x12 (x4)
G

M6x12 (x4)
H

C (x1)

C

J

2 (x1)

5 (x4) 6 (x1) 7 (x1)

3 (x1) 4 (x1)

 

1a

4

6

5

7

2 3

I

K

F
E

L

P

E

M

N

O

O
J

E

F

D

G/H

Using Long bolt (G or H) to mount projector set to 
the four projector fittings

This product can be installed both on the  wall and ceiling.

The wall

The ceiling

B

3

Using the bubble level to ensure the wall 
plate is level,Pre-drill 4 holes with a 10mm 
bit to 50mm deep. Insert wall anchors into 
the holes, then using long bolts to mount 
the wall.

M

F E

2
1

7

6

4 5

1b

A
A

Using the bubble 
level to ensure the 
wall plate is level,
Pre-drill 2 holes 
with a 5mm bit to 
50mm deep.  
then using long 
bolts to mount to 
the wallstud.


